= mmEERN TR E—X (RCS20R-SA4C) ~EMRE~ [kel

[
7w - - i

; TR G
1) - 1)—
il 2t EOWR ] U-F 0.1 0.2 0.3 0.4 05 | 06 07 [ 08 1.0 1.1 1.2 13 [ 14 15 1.7 19 [ 20
25 45 45
RCS2CR | SA4C | 20 |— 5520
16 0.6 0.6 0.6
5 )-1'2.5 s 165mm/s e Y116
-5 8% . 116 s /
15 3 4= il S30mm)/s 12 =110 g 660mm/s 07 REAE 1060mm/s
4 25 1 06
35 05
B 3 . g 2 —038 =
W5 iR = —rE ] 2 T =04
" w5 1Y i o —— B }
® 2 = im EO.S
& S
15 [T 1 0.4 IE‘02
1 }
05 05 0.2 0.1
00 02 04 06 08 10 12 14 16 18 20 00 02 04 06 08 10 12 14 16 18 20 00 02 04 06 08 10 12 14 16 18 20 00 02 04 06 08 10 12 14 16 18 20
(] MREREG] IRERELG] RG]
B @R TR RE—% (RCS2CR-SA4C) ~EMIRE~
2 InMEEER AT N — % (RCS2CR-SA5C) ~ZEM M~ [kel
" — - OB C]
i Ll s 0.1 0.2 03 | 04 05 | 06 07 [ 08 0.9 1.0 1.1 1.2 13 [ 14 15 1.7 [ 1.8 19 [ 20
3 4 4
RCS2CR | SASC | 20 4 —2 2%
20 05 05 05
15 Y—}'3 B 200mm/s 25 Y—}'6 Be 400mm/s 12 =112 Bz 800mm/s 06— Y-F20 mamme 1330mm/s
4 1 0.5
35 2
- 3 | — _08 _04
2 215 g 5“’ -
52-5 —— R E ——ig go_e ;iio.a i }
- % 1 & —— iR =
T15 = IF0.4 [T0.2
1
0.5
05 0.2 0.1
0 . L L L L L . L L 0 L L L L L L L L L L 1 1 1 1
00 02 04 06 08 10 12 14 16 18 20 00 02 04 06 08 10 12 14 16 18 20

EEELC]

RG]

00 02 04 06 08 10 12 14 16 18 20

iR EC]

B : bk e B T W — X (RCS2CR-SA5C) ~EMEE~

0 It It It It It L
00 02 04 06 08 10 12 14 16 18 20
RG]




	V-RCS2CR-SA4C_SA5C

